
9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

0.139

0.14

0.141

0.142

0.143

0.144

0.145

al
ph

a1
3_

4e
X

4a
X

alpha13_4eX4aX:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

14.7

14.8

14.9

15

15.1

15.2

15.3

15.4

15.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

0.46−

0.45−

0.44−

0.43−

0.42−

0.41−

de
lta

13
_1

1X
12

X
4e

X

delta13_11X12X4eX:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

1

1.1

1.2

1.3

1.4

1.5

1.6

1.7

de
lta

46
_1

1X
12

X
4e

Y

delta46_11X12X4eY:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

7422

7422.5

7423

7423.5

7424

7424.5

7425

7425.5

7426

ru
n

run:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7424}



9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

88−

86−

84−

82−

80−

78−

76−

74−

us
l_

4a
X

usl_4aX:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

6.6

6.8

7

7.2

7.4

7.6

us
l_

4a
Y

usl_4aY:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

20

22

24

26

28

30

32

us
l_

4e
X

usl_4eX:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

12.6

12.8

13

13.2

13.4

13.6

13.8

14

us
l_

4e
Y

usl_4eY:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

32.7−

32.6−

32.5−

32.4−

32.3−

32.2−

32.1−

32−

us
l_

11
X

12
X

usl_11X12X:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

7422

7422.5

7423

7423.5

7424

7424.5

7425

7425.5

7426

ru
n

run:cyclenum {run == 7424}



9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

152−

150−

148−

146−

144−

142−

140−

138−

us
r_

4a
X

usr_4aX:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

10.7

10.8

10.9

11

11.1

11.2

11.3

11.4

11.5

11.6

us
r_

4a
Y

usr_4aY:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

198

200

202

204

206

208

210

212

us
r_

4e
X

usr_4eX:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

5

5.5

6

6.5

7us
r_

4e
Y

usr_4eY:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

37.64−

37.62−

37.6−

37.58−

37.56−

37.54−

us
r_

11
X

12
X

usr_11X12X:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

7422

7422.5

7423

7423.5

7424

7424.5

7425

7425.5

7426

ru
n

run:cyclenum {run == 7424}



9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

31200

31300

31400

31500

31600

31700

31800

31900

us
l_

co
il1

usl_coil1:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

6520

6525

6530

6535

6540

6545

6550

6555

us
l_

co
il3

usl_coil3:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

3800

3900

4000

4100

4200

4300

4400

4500

us
l_

co
il4

usl_coil4:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

300−

250−

200−

150−

100−

us
l_

co
il6

usl_coil6:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

12400

12500

12600

12700

12800

12900

us
l_

co
il7

usl_coil7:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

7422

7422.5

7423

7423.5

7424

7424.5

7425

7425.5

7426

ru
n

run:cyclenum {run == 7424}



9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

26700−

26600−

26500−

26400−

26300−

26200−

26100−

26000−

us
r_

co
il1

usr_coil1:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

5400−

5350−

5300−

5250−

5200−u
sr

_c
oi

l3

usr_coil3:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

3990

4000

4010

4020

4030

4040

4050

4060

us
r_

co
il4

usr_coil4:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

670−

660−

650−

640−

630−

620−

610−

600−

us
r_

co
il6

usr_coil6:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

17950

18000

18050

18100

18150

18200us
r_

co
il7

usr_coil7:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

7422

7422.5

7423

7423.5

7424

7424.5

7425

7425.5

7426

ru
n

run:cyclenum {run == 7424}



9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

450−

448−

446−

444−

442−

440−4a
X

_c
oi

l1
4aX_coil1:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

74.11−

74.1−

74.09−

74.08−

74.07−

74.06−

74.05−

4a
X

_c
oi

l3

4aX_coil3:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

25

26

27

28

29

30

31

4a
X

_c
oi

l7

4aX_coil7:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

492−

490−

488−

486−

484−

482−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

94.8−

94.7−

94.6−

94.5−

94.4−

94.3−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

25

26

27

28

29

30

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7424}



9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

181.6

181.7

181.8

181.9

182

182.1

182.2

182.3

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

61.9

62

62.1

62.2

62.3

62.4

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

8.2−

8.1−

8−

7.9−

7.8−

7.7−

7.6−

7.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

194.4

194.6

194.8

195

195.24e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

4.8−

4.75−

4.7−

4.65−

4.6−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

6.4−

6.35−

6.3−

6.25−

6.2−

6.15−

6.1−

6.05−

6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7424}



9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

239.35−

239.34−

239.33−

239.32−

239.31−

239.3−

239.29−

239.28−

11
X

12
X

_c
oi

l1

11X12X_coil1:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

90−

89.5−

89−

88.5−

88−

87.5−

87−

86.5−

86−

85.5−

11
X

12
X

_c
oi

l3

11X12X_coil3:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

6−

4−

2−

0

2

11
X

12
X

_c
oi

l4

11X12X_coil4:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

5

5.5

6

6.5

7

7.5

11
X

12
X

_c
oi

l6

11X12X_coil6:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

445−

444.5−

444−

443.5−

443−

442.5−

442−

11
X

12
X

_c
oi

l7

11X12X_coil7:cyclenum {run == 7424}

9050 9050.2 9050.4 9050.6 9050.8 9051
cyclenum

7422

7422.5

7423

7423.5

7424

7424.5

7425

7425.5

7426

ru
n

run:cyclenum {run == 7424}
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